Attachment C
Dwarf Mistletoe Infection
Mohawk Valley Wildfire Resilience

The Hawksworth six-class dwarf mistletoe rating system

Instructions Example

Step 1 Divide live crown into thirds. If this third has no visible infections,
its rating is (0.
Step 2 Fate each third separately.
Each third should be given a —
rating of O, 1, or 2 as described
belo;
{0y no wisible infections
(13 light infection (1/2 orless of
total number of branches in
the third infected
(21 heawyinfection (more than
172 tatal number of

branches in the third

If this third is lightly infected, its
rating is (1)

If this third is heavily infected, its
rating is (2).

irfected).
Step 3 Add ratings of thirds to obtain The tree in this example gets a rating
rating for total tree. of 0+1+2=3.

On a tree or stand basis, light infection is a rating of 1 to 2; moderate is 3 to 4; and
severe is 5 to 6. For a stand, the rating is calculated as the average rating of all
infected trees. Incidence is the percentage of susceptible trees infected by dwarf
mistletoe.



